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6.7 Add Orally and Write the Answer 
1. Seven increased by three 

2 Five and four make 

3 One added to eight 

4. Three when added to four 

Ram had four sweets. His sister gave him two more. How 

many sweets does he have now? MA7- 
6 

5. 
6 

Seven cows were grazing in a field. Five more cows came 
over there. How many cows are there in total now ? L 12 

Preeti had five books. Priya gave her nine more. How many 
books are there with her now? 14 7. 

8 There are four apples, nine oranges and six pears in a 
basket. How many fruits are there in the basket ? ++o 1 
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